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ßKAY{A S¶ReK{A ™I•OC 

  

1 -  

   C-  ßs L•e{A ZcKf¶ ºrAZt{A  ßs ®C ,™¶XB}{A iBa•æA ßs ZcKf¶•|ÆA•a{A 

LA`Bp{A• ™I{e{A ~BaOæA•.  

  J - BwKfA NXR¶ ™¶K•e ™O•} ZBcKfA Xfk_{ |™vBi{ _{ |BwKfA NXR¶ º•©XB}{.  

 Q-  ia•{A LBÆ¶`O ™yZR ´Rf} B¢¶s ·•y¶ ßK{A ™O•}{A ß° ™¶{•i{A ™O•}{A ßs

™¢O  ™yZR ´Rf} B¢¶s ·•y¶ ßK{A ™O•}{A ß° ™¶gZl{A ™O•}{A• ,ZBcKfºA ´Rf}

 ia•{A LBÆ¶`O ´{k B¶X•}kZBcKfºA ´Rf}.  

X - ™¶K•e LºBO} ™MΩM zBf°:  

   * |BO}A x•sßl}a{  ·} ZIyC ZKA•K{A ~¶v £¶s ·•yK•20000`KZ¶°.  

   * |BO}ßl}a ·¶I ©Z•eR} ZKA•K{A ~¶v £¶s ·•yK•15•20000`KZ¶°.  

   * |BO}ßl}a{A LRK  ·} ZpeC ZKA•K{A ~¶v £¶s ·•yK•15BI¶ZwK`KZ¶°.   

2-   

·DI ~{lf : ™kZa{A = ™sBa}{A/ ·}`{A.  

   V = X/t  

V≠A•°= 340m/s   ; VYº•s = 5050m/s  ;   V ≠B}ZRI{A = 1531m/s    

·•y¶ £¶{k•:  

-   N¶R , ≠A•¢{A |OC ·}= 340m/s    V≠A•°:  

t = 10000/340 = 29.4s                       

 
-   N¶R ,Yº•t{A |OC ·}= 5050m/s VYº•s : 
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t = 10000/5050 = 2s                       

 - N¶R ,ZRI{A ≠B} |OC ·} = 1531m/s V ≠B}AZRI{: 
t = 10000/1531 = 6.5s                     

     
3-   

 ß° ™sBa}{A ·G N¶R10.20km ß{BK{By ia• |y JaR ZBcKfºA ·}`{A ·•y¶ ,:  

-   N¶R , ≠A•¢{A |OC ·}= 340m/s    V≠A•°:  

t = 10200/340 =30s                      
 

-   N¶R ,Yº•t{A |OC ·}= 5050m/s VYº•s : 
t = 10200/5050 = 2s                      

 - N¶R ,ZRI{A ≠B} |OC ·} = 1531m/s V ≠B}ZRI{A: 
t = 10200/1531 = 6.66s                     

-  ™¶Æ•g ™O•} |OC ·} = 300000km/s V≠•g: 
t = 10200/300000  =  0.34 s                 

             

 4 - 

C- æA Z•R} ´{k ·B¶I{A ·} CZwf™f}`:  

    T = 1x2x10-3               
XOf:  

T= 2x10-3s         ®C      :  

- x¶IiKI ZKA•K{A ™}¶v XBO¶G ·y}¶  

 ™vΩl{A :f = 1/T      

s XOf: 2x10-3
 f = 1/      

 ®C :f = 500Hz .  

 
2x10-3s 

2cm 

s

cm

T
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- ´il}{A ~aZ{A ~{aI ™fBlKaºBI• , J¶KAZK{A Z•R} ´{k ™O•}{A ™la ©≠AZv ·y}¶:  

 la{A ·DI XOf xsA•K ™1cm ~aZ{A ´{k .ß° ©`A`K°ºA ™la ™}¶v ·Hs £f}•2cm .  

J-  ™vΩl{A ·} ™O•}{A Z•i JBaR ·y}¶ z{Yy• := v.T λ.  

  XOfs      := 340. 2x10-3
 λ    

    0.68m  =λ       
Q-  ß° ZKA•K{A ™}¶v L}AXB}f = 500Hz  ~¶v ·¶I ©Z•eR} ™}¶w{A §Y° ·Hs ,

 ®C ,ßl}a{A |BO}{A LAZKA•K ·¶I15•20000 ™O•}{A §Y° nB}a ·y}¶ £fHs ,`KZ¶°

™¶ZcI{A ·YæA uZi ·} ™¶K•e{A.    

5 -  

1 -  £fk ~OBf{A L•e{A nB}a• xZI{A ©X°Bc} ·¶I ßf}`{A xZt{A X•O• JIa mOZ¶

≠A•¢{A ßs L•e{A ™kZa• ≠A•¢{A ßs ≠•g{A ™kZa uΩKUA ´{G.  

ZU¿A |Iv |e¶ ®Y{A •° nZaæBs . ≠•g{A ™kZa ·C ~{lf• ß°300000 ZK}•{¶y

 ®C , ™¶fBM{A ßs300000000 ß° ≠A•¢{A ßs L•e{A ™kZa B}f¶I , ™¶fBM{A ßs ZK}

340  ß° ≠•g{A ™kZa ·C ®C ,iws ™¶fBM{A ßs ZK}882353  ™kZa ·} ZIyC ©Z}

L•e{A.  

2 -  ™vΩl{A x¶IiKI :X = V.t N¶R VXOfs ,≠A•¢{A ßs ≠•g{A ™kZa:  

 X = 300000.0.1 = 30000   

 ·C ®C :X = 30000m = 30km .  

 ß° fUc{A ·k ™IBRa{A XlI ·C ®C :30km  

3-  ™vΩl{A x¶IiKI :t = X/V  XOf ,:  

   t = 50000/340 = 147s   

 
 


